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S.E. (Comp./I.T.) (Second Sem.) EXAMINATION, 2015
ENGINEERING MATHEMATICS-III
(2012 PATTERN)
Maximum Marks : 50

Attempt four questions : Q. No. 1 or Q. No. 2, Q. No.3
or Q. No. 4, Q. No. 5 or Q. No. 6 and Q. No. 7 or
Q. No. 8.

Time : Two Hours

N.B. — (i)

(it)
(@i1)

(iv)

Neat diagrams must be drawn wherever necessary.
Figures to the right indicate full marks.

Use of non-programmable electronic pocket calculator is
allowed.

(v) Assume suitable data, if necessary.
1.  (a) Solve any fwo : [8]
(i) (D?-2D-3)y =37 sine™ + cos ()
(ii) (D*-2D+2)y=e"tanx. (By variation of parameters)

d? dy
i) x* IQAW‘ . N»\MW -4y = X%,
(b) Find the Fourier transform of .11 and hence show that : [4]

m;k

..._Ha 1+

dih=mett
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2. (a)
®)
(c)
3. (@)

[4857)-1076

Or

An uncharged condenser of capacity C charged by applying

t
3 Esin
an e.m.f. of value Jic

through the leads of inductance

L and of negligible resistance. The charge Q on the place of

condenser satisfied the differential equation : [4]
N -+
I&%+|Olnm‘_.: N .
dt LC L JLC
Prove that the charge at any time t is given by
Onvm!ﬂTE it €0s : ;
2 JLC JLC T JLC S
Find the Inverse Z-transform (any one) : (4]
z+2
] F(i)= 54— |
@) (z) o ey for |z} >1.
10z
(€43} fina (Use inversion integral method).

Solve the following difference equation to find {fk)} : [4]

k
.:T:,rm\gsu@v k20, f(0)=0,

The first four moments of a distribution about the value
4 are -1.5, 17, =30 and 108. Obtain the first four central
moments, mean, standard deviation and coefficient of skewness

and kurtosis. {4]
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